Wed, Feb 13, 2019 . MATH655 - Quiz 1.

Wﬁw

Name: (prinf)
Each problem is worth 2 points. Show all your work.

1. For what z € C does the series converge (diverge)? In what region(s) of C does the
series converge uniformly?
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2 How many points can coincide with their images in a (non—ldentlty) fractional llnear

transformation w = az+. b
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3. Find the image of the region {z € C: —m < Re(2) < —Z, Im(z) > 0} by the mapping
w = cos(z). Describe how the boundary and the intérior-of the region are mapped into
their images. Hint: use the identities ' R

cos(z) =sin (z+ %) or cos(z + i) — cosw coshy — isinzsinhy.
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